Practice Midterm2 Version B, Sec61

Multiple Choice. Circle the best answer. No work needed. No partial credit available.

Q1 Which statement is true about the series
;::1(1 + :L)
A The nth term test concludes that the series converges.
B The nth term test concludes that the series diverges.
C The nth term test hypotheses are not met by this series, so it cannot be applied.

D The nth term test hypotheses are met by this series however the test is inconclusive.

E None of the above are true. The nth term test concludes that the series converges.
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Q2 Which statement is true about the series m L 74),( __t

Z \/ng—
A The integral test concludes that the series converges.
B The integral test concludes that the series diverges.
C The integral test hypotheses are not met by this series, so it cannot be applied.
D The integral test hypotheses are met by this series however the test is inconclusive.

E None of the above are true.
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Q3 Determine whether the following series are absolutely convergent, conditionally convergent, or diver-

gent:
1 and (2) > (=)

n=1 7’L+2

>, sin(n)
DD
n=1
1) is absolutely convergent; (2) is divergent.

)

1) is conditionally convergent; (2) is divergent.
)
)

A (
B (
C (1) is absolutely convergent; (2) is conditionally convergent.
D (1) is divergent; (2) is conditionally convergent.

B

1) and (2) are conditionally convergent.
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Q4 Determine whether the following series converge or diverge.
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Q5 Check the convergence/divergence of
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sider the serief 2/— % + 9% — e .._Give the value of the nth term a,, which would allow us
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Q9 Find the radius of convergence of
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Q13 Find the 4th degree Taylor polynomial of f(z entered at a = /8
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Q14 F d the Taylor at z = 0 for f(z) = 2z (find the general nth term and write it in Sigma
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